
DEFENDER 110 ULTRA RACK
INSTALL GUIDE



Widest section will be the front 
on side braces

Remove the OEM roof rack if equipped from the vehicle. Mounts will be reused from the 
factory rack do not discard.

6x 5/16-18 x 0.75 Button Head
6x 5/16-18 Nyloc
6x 5/16 Washers 



16x 1/4-20 x 0.50 Button Head
16x 1/4-20 Nyloc
16x 1/4 Washers 



CONTINUED

Insert the provided panels into the rear openings based on the vehicles accessories if equipped.
Panels for the accessories will also help locate the rack during install.

No Accessories

Land Rover Side Box

Land Rover Ladder

16x 1/4-20 x 0.50 Button Head
16x 1/4-20 Nyloc
16x 1/4 Washers 



4x 5/16-18 x 0.75 Button Head
4x 5/16-18 Nyloc
4x 5/16 Washers 



4x 1/4-20 x 0.75 Button Head
4x 1/4-20 Nyloc
4x 1/4 Washers 



24x 5/16-18 x 0.75 Button Head
24x 5/16-18 Nyloc
24x 5/16 Washers 



6x 5/16-18 x 2.5 Button Head
6x 5/16-18 Nyloc
6x 5/16 Washers 



Insert the load bars at your desired spacing and mount to the rack using the provided 5/16” hardware. 
Leave hardware loose for adjustment and tighten once the rack is square.

Mounting area



12x 5/16-18 x 1.25 Carriage Bolt
12x 5/16-18 Nyloc
12x 5/16 Washers 

12x 5/16-18 x 0.75 Button Head
12x 5/16-18 Nyloc
12x 5/16 Washers 

Reuse the provided OEM rack mounts if equipped or the provided 
spacers and 5/16 carriage bolts

Carriage bolt mounts

Mount Diagram next page



Driver Side Example Shown

Front Mid Rear


